



ORIGINAL ARTICLE

An auxiliary ordinary differential equation and the exp-function method

Jin-Liang Zhang ^{*}, Ke-Quan Gao, Chuang-Feng Chen,
Jian-Fang Zhang

School of Mathematics and Statistics, Henan University of Science and Technology, Luoyang 471003, China

Received 13 April 2011; revised 16 June 2011; accepted 10 July 2011

Available online 16 September 2011

KEYWORDS

The auxiliary equations method;
Exp-function method;
Exact solution;
KdV equation;
Boussinesq equation;
(3 + 1)-Dimensional Jimbo–Miwa equation;
Benjamin–Bona–Mahony equation

Abstract In this paper, the new idea of finding the exact solutions of the nonlinear evolution equations is introduced. The idea is that the exact solutions of the auxiliary ordinary differential equation are derived by using exp-function method, and then the exact solutions of the nonlinear evolution equations are derived with aid of the auxiliary ordinary differential equation. As examples, the classical KdV equation, Boussinesq equation, (3 + 1)-dimensional Jimbo–Miwa equation and Benjamin–Bona–Mahony equation are discussed and the exact solutions are derived.

© 2011 King Saud University. Production and hosting by Elsevier B.V.
All rights reserved.

^{*} Corresponding author.

E-mail address: zhangjin6602@163.com (J.-L. Zhang).

1319-5166 © 2011 King Saud University. Production and hosting by Elsevier B.V. All rights reserved.

Peer review under responsibility of King Saud University.

doi:10.1016/j.ajmsc.2011.07.001



Introduction

In this paper, the equation is considered as

$$Au'' + Bu + Cu^2 = 0, \quad (1)$$

where A, B, C are arbitrary constants. Eq. (1) is one of the most important auxiliary equations, because many nonlinear evolution equations can be converted to Eq. (1) using the traveling wave reduction (it is shown in “The applications of the auxiliary ordinary differential equation (1)” section).

Recently, He and Wu (2006) proposed a straightforward and concise method called “exp-function method” to explore the exact solutions of modified KdV equation, the Dodd–Bullough–Mikhailov equation. This method has been paid attention by many researchers. Up to now, the exp-function method has been applied to find the solutions of a class of the nonlinear evolution equations, such as the nonlinear Schrödinger equations with cubic and power law nonlinearity (Khani et al., 2007), combined KdV–mKdV equation (Ebaid, 2007), KdV equation with variable coefficients (Zhang, 2007a), the discrete (2 + 1)-dimensional Toda lattice equation (Zhu, 2008), and the Maccari’s system (Zhang, 2007b). Thus it is easy to see that the exp-function method is a very powerful method and can be used to study the exact solutions of the high-dimensional system, the discrete system, and the system with variable coefficients.

According to the introduction above, the method presented in this paper is described as follows: exact solutions of the auxiliary ordinary differential Eq. (1) are firstly derived using exp-function method. The exact solutions of a class of nonlinear evolution equations which can be converted to Eq. (1) using the traveling wave reduction are presented with the aid of the auxiliary ordinary differential Eq. (1).

This paper is organized as follows: in the next section, the exact solutions of the auxiliary ordinary differential Eq. (1) are derived by exp-function method. A class of the nonlinear evolution equations, such as the classical KdV equation, Bousinesq equation, (3 + 1)-dimensional Jimbo–Miwa equation and Benjamin–Bona–Mahony equation, which can be converted to auxiliary ordinary differential Eq. (1) using the traveling wave reduction are introduced in “The applications of the auxiliary ordinary differential equation (1)” section, and the exact solutions can be obtained with the aid of the auxiliary ordinary differential Eq. (1). Some conclusions and discussions are given in the final section.

The exact solution of auxiliary ordinary differential Eq. (1)

According to the exp-function method, we suppose that the exact solutions of Eq. (1) is in the form as

$$u(\eta) = \frac{\sum_{n=-d}^c a_n \exp(n\eta)}{\sum_{m=-q}^p b_m \exp(m\eta)} = \frac{a_c \exp(c\eta) + \cdots + a_{-d} \exp(-d\eta)}{b_p \exp(p\eta) + \cdots + b_{-q} \exp(-q\eta)}. \quad (2)$$

Thus we have

$$u'' = \frac{c_3 \exp[(c + 3p)\eta] + \dots}{c_4 \exp[4p\eta] + \dots}, \tag{3}$$

$$u^2 = \frac{c_1 \exp[(2c + 2p)\eta] + \dots}{c_2 \exp[4p\eta] + \dots}, \tag{4}$$

where $c_i (i = 1, \dots, 4)$ are constants determined later.

Considering the balancing between u'' and u^2 in Eqs. (3) and (4) yields

$$c = p.$$

From Eq. (2), we have

$$u'' = \frac{\dots + d_3 \exp[-(3q + d)\eta]}{\dots + d_4 \exp[-4q\eta]}, \tag{5}$$

$$u^2 = \frac{\dots + d_1 \exp[-(2q + 2d)\eta]}{\dots + d_2 \exp[-4q\eta]}, \tag{6}$$

where $d_i (i = 1, \dots, 4)$ are constants determined later.

Considering the balancing between u'' and u^2 in Eqs. (5) and (6) yields

$$q = d.$$

Case 1 $c = p = 1, d = q = 1$

The Eq. (2) is converted as

$$u(\eta) = \frac{a_1 \exp(\eta) + a_0 + a_{-1} \exp(-\eta)}{\exp(\eta) + b_0 + b_{-1} \exp(-\eta)}, \tag{7}$$

Substituting (7) into (1) and using *Mathematica*, the left hand side of Eq. (1) is converted into a polynomial in e^{η} . Setting the coefficients of e^{η} to zero yields a set of algebraic equations for $a_1, a_0, a_{-1}, b_0, b_{-1}$.

With the help of *Mathematica*, we can obtain the solutions of the algebraic equations above as

Case 1.1 $a_{-1} = 0, a_1 = 0, a_0 = -\frac{3Bb_0}{C}, b_0 = b_0, b_{-1} = \frac{b_0^2}{4}, A = -B,$

Substituting the results above in to Eq. (7) yields the exact solutions of Eq. (1) as

$$u(\eta) = -\frac{3Bb_0}{C(e^\eta + b_0 + \frac{1}{4}b_0^2 e^{-\eta})}, \tag{8}$$

where $A = -B.$

In (8), setting $b_0 = 2$ yields

$$u(\eta) = -\frac{6B}{C[\cosh(\eta) + 1]}, \tag{9}$$

Case 1.2 $a_{-1} = -\frac{Bb_0^2}{4C}, a_1 = -\frac{B}{C}, a_0 = \frac{2Bb_0}{C}, b_0 = b_0, b_{-1} = \frac{b_0^2}{4}, B^2 = AC$

Similar to Case 1.1, the exact solutions of Eq. (1) is obtained as

$$u(\eta) = -\frac{B(4e^\eta - 8b_0 + b_0^2e^{-\eta})}{C(4e^\eta + 4b_0 + b_0^2e^{-\eta})}. \tag{10}$$

where $B^2 = AC$.

Case 2 $c = p = 2, d = q = 1$

The Eq. (1) is in the form as

$$u(\eta) = \frac{a_2 \exp(2\eta) + a_1 \exp(\eta) + a_0 + a_{-1} \exp(-\eta)}{\exp(2\eta) + b_1 \exp(\eta) + b_0 + b_{-1} \exp(-\eta)}. \tag{11}$$

Case 2.1 $B = -1,$

Case 2.1.1

Similar to Case 1, we obtain

$$a_{-1} = 0, a_0 = 0, a_1 = a_1, a_2 = 0, b_1 = \frac{2a_1}{3}, b_0 = \frac{a_1^2 C^2}{36}, B = -1.$$

Substituting the results above into (11) yields

$$u(\eta) = \frac{a_1 e^\eta}{e^{2\eta} + \frac{2a_1}{3} e^\eta + \frac{a_1^2 C^2}{36}}. \tag{12}$$

Case 2.1.2

Similar to Case 1, we obtain

$$a_2 = 0, a_1 = a_1, a_0 = a_0, a_{-1} = 0, b_1 = \frac{2Ca_1^2 + 6a_0}{6a_1}, b_0 = -\frac{24Ca_0 + a_1^2 C}{72}, b_{-1} = \frac{a_0 a_1 C^2}{36},$$

Substituting the results above into (11) yields

$$u(\eta) = \frac{a_1 e^\eta + a_0}{e^{2\eta} + \frac{2Ca_1^2 + 6a_0}{6a_1} e^\eta - \frac{24Ca_0 + a_1^2 C}{72} + \frac{a_0 a_1 C^2}{36} e^{-\eta}}. \tag{13}$$

Case 2.1.3

Similar to Case 1, we obtain

$$a_{-1} = \frac{2a_2^3 b_1^3 - 3a_2^2 a_1 b_1^2 + a_1^3}{108a_2^2}, a_0 = -\frac{5a_2^2 b_1^2 - 3a_1^2 - 2b_1 a_1 a_2}{12a_2}, a_1 = a_1, a_2 = a_2,$$

$$b_1 = b_1, b_0 = \frac{3a_2^2 b_1^2 - 2b_1 a_1 a_2 - a_1^2}{12a_2^2}, b_{-1} = \frac{2a_2^3 b_1^3 - 3a_2^2 a_1 b_1^2 + a_1^3}{108a_2^3},$$

Substituting the results above into (11) yields

$$u(\eta) = \frac{a_2 e^{2\eta} + a_1 e^\eta - \frac{5a_2^2 b_1^2 - 3a_1^2 - 2b_1 a_1 a_2}{12a_2} + \frac{2a_2^3 b_1^3 - 3a_2^2 a_1 b_1^2 + a_1^3}{108a_2^2} e^{-\eta}}{e^{2\eta} + b_1 e^\eta + \frac{3a_2^2 b_1^2 - a_1^2 - 2b_1 a_1 a_2}{12a_2^2} + \frac{2a_2^3 b_1^3 - 3a_2^2 a_1 b_1^2 + a_1^3}{108a_2^3} e^{-\eta}}. \tag{14}$$

where $a_2 = \frac{1}{C}$.

Case 2.2 $B > 0$, We can obtain the exact solutions of Eq. (1), here we omit for simplicity.

Case 3 $c = p = 2, d = q = 2$

The Eq. (2) is in the form as

$$u(\eta) = \frac{a_2 \exp(2\eta) + a_1 \exp(\eta) + a_0 + a_{-1} \exp(-\eta) + a_{-2} \exp(-2\eta)}{\exp(2\eta) + b_1 \exp(\eta) + b_0 + b_{-1} \exp(-\eta) + b_{-2} \exp(-2\eta)}, \tag{15}$$

In Eq. (15), setting $b_{-1} = b_1 = 0$ for simplicity, Eq. (15) is converted to

$$u(\eta) = \frac{a_2 \exp(2\eta) + a_1 \exp(\eta) + a_0 + a_{-1} \exp(-\eta) + a_{-2} \exp(-2\eta)}{\exp(2\eta) + b_0 + b_{-2} \exp(-2\eta)}. \tag{16}$$

Case 3.1

Similar to Case 1, we obtain

$$a_2 = 0, a_1 = 0, a_0 = a_0, a_{-1} = 0, a_{-2} = 0, b_0 = -\frac{2Ca_0}{6B}, b_{-2} = \frac{a_0^2 C^2}{36B^2}.$$

Substituting the results above into (16) yields

$$u(\eta) = \frac{a_0}{e^{2\eta} - \frac{2Ca_0}{6B} + \frac{a_0^2 C^2}{36B^2} e^{-2\eta}}, \tag{17}$$

Case 3.2

$$a_2 = 0, a_1 = a_1, a_0 = \frac{Ca_1^2}{3B}, a_{-1} = \frac{a_1^3 C^2}{36B^2}, a_{-2} = 0, b_{-2} = \frac{C^2 a_1^4}{5184B^2}, b_0 = -\frac{C^2 a_1^2}{18B^2}.$$

Thus the exact solutions of Eq. (1) can be obtained as

$$u(\eta) = \frac{a_1 e^\eta + \frac{Ca_1^2}{3B} + \frac{a_1^3 C^2}{36B^2} e^{-\eta}}{e^{2\eta} - \frac{C^2 a_1^2}{18B^2} - \frac{C^2 a_1^4}{5184B^2} e^{-2\eta}}. \tag{18}$$

Case 3.3

$$a_2 = a_2, a_1 = 0, a_0 = -2a_2 b_0, a_{-1} = 0, a_{-2} = \frac{a_2 b_0^2}{4}, b_0 = b_0, b_{-2} = \frac{b_0^2}{4}, B = -Ca_2.$$

Thus the exact solutions of Eq. (1) can be obtained as

$$u(\eta) = \frac{a_2 e^{2\eta} - 2a_2 b_0 + \frac{1}{4} a_2 b_0^2 e^{-2\eta}}{e^{2\eta} + b_0 + \frac{1}{4} b_0^2 e^{-2\eta}}. \tag{19}$$

where $a_2 = -\frac{B}{C}$.

Case 3.4

$$a_2 = a_2, a_1 = a_1, a_0 = \frac{5a_1^2}{18a_2}, a_{-1} = \frac{a_1^3}{36a_2^2}, a_{-2} = \frac{a_1^2}{1296a_2^3}, b_0 = -\frac{a_1^2}{18a_2^2}, b_2 = \frac{a_1^4}{1296a_2^4}.$$

The exact solutions of Eq. (1) are in forms as

$$u(\eta) = \frac{a_1 e^\eta + a_2 e^{2\eta} + \frac{5a_1^2}{18a_2} + \frac{a_1^3}{36a_2^2} e^{-\eta} + \frac{a_1^4}{1296a_2^3} e^{-2\eta}}{e^{2\eta} - \frac{a_1^2}{18a_2^2} + \frac{a_1^4}{1296a_2^4} e^{-2\eta}}. \tag{20}$$

where $a_2 = -\frac{B}{C}$.

Remark 1: We can obtain other type solutions of Eq. (1) such as we set $f = c = 4, d = g = 4$.

The applications of the auxiliary ordinary different equation (1)

In this section, the classical KdV equation, Boussinesq equation, (3 + 1)-dimensional Jimbo–Miwa equation and Benjamin–Bona–Mahony equation are considered again and the exact solutions are derived with the aid of the auxiliary ordinary different Eq. (1).

KdV equation

We firstly consider KdV equation (Mei and Zhang, 2005; Siraj-ul-Islam et al., 2008; Wang et al., 2008; Zhang, 2009) as

$$u_t + uu_x + \beta u_{xxx} = 0, \tag{21}$$

where β is constant.

Supposing the exact solutions of Eq. (21) are in the form as

$$u(x, t) = u(\xi), \xi = k(x - ct) + \xi_0, \tag{22}$$

where ξ_0 is constant.

Substituting (22) into (21) yields

$$-cu' + uu' + \beta k^2 u''' = 0. \tag{23}$$

Integrating Eq. (23) once and setting integral constant to zero, Eq. (23) is converted to Eq. (1), where

$$A = \beta k^2, B = \frac{1}{2}, C = -c. \tag{24}$$

Boussinesq equation

The Boussinesq equation (Abassy et al., 2007; Inc, 2008; Javidi and Jalilian, 2008) considered as

$$u_{tt} - c_0^2 u_{xx} - \alpha u_{xxxx} - \beta (u^2)_{xx} = 0. \tag{25}$$

Supposing the exact solutions of Eq. (25) are in the form as

$$u(x, t) = u(\eta) = u(kx + \omega t), \tag{26}$$

where k, ω are constants.

Similar to the ‘‘KdV equation’’ section, by using Eq. (26), Eq. (25) is converted to Eq. (1), where

$$A = \alpha k^4, B = c_0^2 k^2 - \omega^2, C = \beta.$$

(3 + 1)-Dimensional Jimbo–Miwa equation

(3 + 1)-Dimensional Jimbo–Miwa equation (Liu and Jiang, 2004; Ma and Lee, 2009; Ma et al., 2009; Turgut and İsmail, 2008) is considered as

$$u_{xxxy} + 3u_y u_{xx} + 3u_x u_{xy} + 2u_{yt} - 3u_{xz} = 0. \tag{27}$$

Supposing the exact solutions of Eq. (27) are in the form as

$$u(x, y, z, t) = u(\eta), \eta = kx + my + rz + \omega t, \tag{28}$$

where k, m, r, ω are constants.

Similar to the ‘‘KdV equation’’ section, by using Eq. (28), Eq. (27) is converted to Eq. (1), where

$$A = k^3 m, B = 2m\omega - 3kr, C = 3k^2 m.$$

Benjamin–Bona–Mahony equation

In this section, we consider Benjamin–Bona–Mahony equation (El-Wakil et al., 2008; Lai et al., 2009) as

$$u_t - u_{xxt} + u_x + \left(\frac{u^2}{2}\right)_x = 0, \tag{29}$$

Supposing the exact solutions of Eq. (29) are in the form as

$$u(x, t) = u(\eta), \eta = kx - \omega t, \tag{30}$$

where k, ω are constants.

Similar to the ‘‘KdV equation’’ section, by using Eq. (30), Eq. (29) is converted to Eq. (1), where

$$A = k^2 \omega, B = k - \omega, C = \frac{1}{2} k.$$

Remark 2: We can obtain the solutions of Eqs. 21, 25, 27, and 29 with the aid of the auxiliary ordinary different Eq. (1). Here we omit for simplicity.

Remark 3: There are other partial differential equations which can be converted to the auxiliary ordinary differential Eq. (1) with the aid of the traveling wave reduction.

Conclusions and discussions

The auxiliary equation method is very important in finding the exact solutions of nonlinear evolution equations, and the auxiliary ordinary differential Eq. (1) is one of most important auxiliary equations because many nonlinear evolution equations, such as the classical KdV equation, Boussinesq equation, $(3+1)$ -dimensional Jimbo–Miwa equation and Benjamin–Bona–Mahony equation and other PEDs, can be converted to this equation using the traveling wave reduction. In this paper, we apply exp-function method to derive the exact solutions of the auxiliary ordinary differential Eq. (1). The exact solutions of the classical KdV equation, Boussinesq equation, $(3+1)$ -dimensional Jimbo–Miwa equation and Benjamin–Bona–Mahony equation are derived with the aid of the auxiliary ordinary differential Eq. (1). The idea introduced in this paper can be applied to other nonlinear evolution equations.

Acknowledgements

The authors would like to express sincere thanks to the referees for their valuable suggestions. This project is supported in part by the Basic Science and the Frontier Technology Research Foundation of Henan Province of China (Grant No. 092300410179) and the Doctoral Scientific Research Foundation of Henan University of Science and Technology (Grant No. 09001204).

References

- Abassy TA, El-Tawil MA, El-Zoheiry H. Modified variational iteration method for Boussinesq equation. *Comput Math Appl* 2007;54:955–65.
- Ebaid A. Exact solitary wave solutions for some nonlinear evolution equations via exp-function method. *Phys Lett A* 2007;365:213–9.
- El-Wakil SA, Abdou MA, Hendi A. New periodic wave solutions via exp-function method. *Phys Lett A* 2008;372:830–40.
- He JH, Wu XH. Exp-function method for nonlinear wave equations. *Chaos, Solitons Fractals* 2006;30:700–8.
- Inc M. New solitary wave solutions with compact support and Jacobi elliptic function solutions for the nonlinearly dispersive Boussinesq equations. *Chaos, Solitons Fractals* 2008;37:792–8.
- Javid M, Jalilian Y. Exact solitary wave solution of Boussinesq equation by VIM. *Chaos, Solitons Fractals* 2008;36:1256–60.
- Khani F, Hamed-Nezhad S, Molabrahmi A. A reliable treatment for nonlinear Schrödinger equations. *Phys Lett A* 2007;371:234–40.
- Lai SY, Lv XM, Shuai MY. The Jacobi elliptic function solutions to a generalized Benjamin–Bona–Mahony equation. *Math Comput Model* 2009;49:369–78.
- Liu XQ, Jiang S. New solutions of the $3+1$ dimensional Jimbo–Miwa equation. *Appl Math Comput* 2004;158:177–84.

- Ma WX, Lee JH. A transformed rational function method and exact solutions to the $3 + 1$ dimensional Jimbo–Miwa equation. *Chaos, Solitons Fractals* 2009;42:1356–63.
- Ma S-H, Fang J-P, Zheng C-L. New exact solutions for the $(3 + 1)$ -dimensional Jimbo–Miwa system. *Chaos, Solitons Fractals* 2009;40:1352–5.
- Mei JQ, Zhang HQ. New soliton-like and periodic-like solutions for the KdV equation. *Appl Math Comput* 2005;169:589–99.
- Siraj-ul-Islam, Khattak AJ, Tirmizi IA. A meshfree method for numerical solution of KdV equation. *Eng Anal Boundary Elem* 2008;32:849–55.
- Turgut Öziş, İsmail Aslan. Exact and explicit solutions to the $(3 + 1)$ -dimensional Jimbo–Miwa equation via the exp-function method. *Phys Lett A* 2008;372:7011–5.
- Wang ML, Li XZ, Zhang JL. The (G'/G) -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics. *Phys Lett A* 2008;372:417–23.
- Zhang S. Application of exp-function method to a KdV equation with variable coefficients. *Phys Lett A* 2007a;365:448–53.
- Zhang S. Exp-function method for solving Maccari's system. *Phys Lett A* 2007b;371:65–71.
- Zhang HQ. New exact travelling wave solutions of nonlinear evolution equation using a sub-equation. *Chaos, Solitons Fractals* 2009;39:873–81.
- Zhu SD. Discrete $(2 + 1)$ -dimensional Toda lattice equation via exp-function method. *Phys Lett A* 2008;372:654–7.